


Him AR IR T MR R R A 5]

Liaocheng Jingyan Bearing Co., Ltd.

H%

CONTENTS

N A R A AR A FEIZET 1980 £, #FH JYU AREFRIR, AREEFAXEF=K 7 5 4 A
K= FEHISNB R ESNBUR AR R AR FF A S . BMER TR . BELSH. RE o b
RATBEAORFELE, URBE. TH. ERUTHIFE, BREBEFBDKBOTAR. EE U o Y B 142

MBFEN, RERAHRMS NN, BEABE SRS RBZH, SHRRERN. BFTS, T —
FUEEF R, TR RATMBR, ENK. TRIW. SERE, BHSMERRET e
REAANTHREE, BAFROEENRRTERENSS, HHPRETSFNER, T8 e .
e S SHEEREENSHTER
ER AR E PR e
YU BLSHERIERM, HENE, FRZISIASBIEMRE, HE00HE R e SRR AR
B, HSEIREAIE 2025 FREETHHE e TRl
JRERIRSFL B A 1 B TN B

RIKBIARIIMES L
RIEBIRIINE SR
BB ARIINME SR
SNMAREBNRIINESE

Bip T SR R T SRR R A 5) JYU

Riaocheng Jingyan Bearing Co., Ltd.




= m#4at4

FmiFR

F= st

Product Structure

&l A i
(A & RER)

T

BN ATRESHK
Linear Guide Model Code

FNSA: HiE%E. BE=
High Assembly with Flange
SNSA: tpfEE. E=
High Standard without Flange
SNHA: 5%k, LE=
High Assembly without Flange
FNSR: ZAFRISARE. FiE=
Roller Type ,High Assembly with Flange
SNSR: ZREEIRAS. £EZ
Roller Type ,High Standard without Flange
SNHR: RERSHEE. EZ:
Roller Type ,High Assembly without Flange
FNSE: SfiififE. FiE=
Super Rolling Moment ,High Assembly with Flange
SNSE: SHiHiErER. TE=
Super Rolling Moment, High Standard without Flange
SNHE: BHifEmAE. TiE=
Super Rolling Moment,High Assembly without Flange

R~F: 15, 20, 25, 30, 35, 45, 55, 65
Length of the Rail

C: B
Heavy Load
H: BERH
Super Heavy Load

MR RIFER

L500: sBEKE

Length of the Rail

2 B APURRE

G4:

G3:

G2:

Gl:

Z0:

ZA:

ZB:

Number of Block for Each Rail

LB

Normal

BERT

Super Heavy Load
R

Precision

B

Senior Precision

FERR
Zero Gap

Zyias
Light Preloading
FifE
Moderate

D BB

Number of Block for Each Rail

= miF R
Product Feature

 AEHR 245
¢ Interchangeability

AEFENFHEREEET, RIYEBERFE
BENAZN, MUNTFERBEESSH, BN
BRI SRR ERRLSHEN L, FERER
HERNIRGE . RERBE, 5TFEESEE.

For the tightly control of production precision,
all the size can be maintained at a stable
tolerance range.So the interchange type linear
guide can keep the same smoothness, preloading
and precision when the block arbitrarily assemble
on the same type of rail. It is very easy to assemble
and repair.

« EREES
¢ High Positioning Accuracy

ERLIBMIENTIASISN, BTEAMMBNNEET XN ARNEER, EERNRBNERERLN 1/50,
MERNSHEZNNEBEZRERN, RINGETHN, F2EITENIRRE, TREIRESMNELMEE.

When machine that vectoring by linear guide ,the friction coefficient will be 1/50 of sliding friction
coefficient,as the friction method of linear guide is rolling friction, the disparity of dynamic friction and static
friction will become smaller, when machine runs, there will be no slipping phenomenon and the positioning
accuracy can reach very high.

o HE W
¢ Excellent Lubrication Design

ZRRVEE BRI, B INFEBHREIAS - IMERER, TEEMLZELATHAURER
ERRBRR, HFEARARGNITENDES KRGS, XUSHEE. SUEELTEARENELITHERK.

Lubrication design patent, can evenly the lubricating grease injection Patent design of Lubricant oil-
way can evenly inject lubricating grease to every loo and obtain the optimal lubrication effect under
various installation method, it improves the overall running smoothness and service life to achieve the high
precision,high reliability and smooth stability of linear motion requirements.

» MG EFHETH
¢ Four Direction Equal Load Capacity

YU SRS AEHRNEA A, RERRE. RE[MKIETT 6 A AR ETE

JYU rail rolling body is to be designed with special pressure angle which make it can bear the same
rated load of its radial, anti radial and horizontal direction.



[t 5= JYU

FmiEs
Producl Feature
o SN, ST
¢ High Rigidity, High Load
JYU SHR ARSI RIUAEIRTT, BAXTEMER, BXAEYI0EERZHEE L. EHNE
MRZNEHAERS.

JYU Linear guideway is designed with four columns arc grooves which increase the contact
area,compare with two cloumns groove design.it has been greatly improve on the loading capacity,
contact stiffness and system rigidity.

- BB
e High Precision

YU SR ASHBERFREEY S E BN EH B NEAH T 5 F RSN TIEREE.

JYU linear guideway is produced by high precision special plane which can polyhedrally grind at the
same time, detected by laser and other advanced process.all of these guarantee the manufacturing
precision of JYU linear guideway.

o B, RIRE. HMRFLISH
e Smoothness, Low Noise

JYURRBRRZIT, EREBHNIKERIZTT, FHRAMAEHNEEERNEZ NIRBEIAE 4, EEIIR
EE, BmMAEEEmERENELIZE.

The returning device of JYU linear guide adopt a simple and lubricant ball recirculation design with

shock resistant circulative accessory --strengthening synthetic resin,the smoothness of the movement is good
which achieves a smooth and noiseless linear motion.

o EHVEUE
e Compact Structure

YU ST E RN A B R AR, BrE/ N R, EmSEEAUR NI B RY .

The section and rigidity of JYU linear guideway attain the most optimal design which is with a small
section but high rigidity,thus achieve the purpose of miniaturization of machine tool.

° RREH
e Easy Installation

YU ST APNREEERERR, 2k FEE,

Low requirements of installation guide for jyu users, it is easy for installation and debugging.

« AERNIEILEEN
¢ With automatic self-aligning capability

EHAEMENUAERT, FEEFENACHEEN, LA TFMERRBRIZEIRE, HEFES
RE. 5RENEZLEH.

Arc groove design of the front combination makes the linear guideway has the ability to automatically

adjust the center, even if to give preloading it can absorb installation error, and maintains a high
precision,smooth and stable linear motion.

6

ZIEBNREEE JYU

FZMBIEEIRE
Accuracy for Choose
hMEESRMERER: ZBE/ SR/ BEE / BREER / &IAK.
YUBPMBEFERWE="HE: TERE, AERIBEENRNSEXEENMEEIRE (1 # L
LA ESRE, B —FELZRE/URMN, METSESHNEE, EENRNERRE ).

Five accuracy grades for choose:Normal/High/Precision/Senior Precision/Top Precision.

The accuracy of JYU series products are mainly reflected on three aspects: accuracy of running
parallelism, accuracy of assembly size, accuracy of the position error of hight and width in pairs( when
several blocks used on one rail or several rails install on one plane, the position error of height and width in
pairs is prescriptive).

FHESREESHMER

For details please refer to the specification table

| BEER e VEEEFR
Machine Type Accuracy Class Machine Type Accuracy Class
_G4 G3 G2 G1 GO _G4 G3 G2 G1 GO
AR o © w0



ZIEBNREANR JYU ZIEBINRERE JYU

FZUBNEEIRE ZMBIEEIRE
Accuracy for Choose Accuracy for Choose
JYUBEANAERBEIWPAOS EK 1.PAO? R 2 7R, (um) W
EMSMWERS Y LEL, BE, HER, BEER, A ]
= = — =
Bﬁ%g)}“ / // ﬁiigh
AD - /] — | . .
Geometric tolerance and accuracy of JYU type = / ///-—-——-—-“"' Precision
show as table 1 in page A08 and table 2 in page AQ09, o / L — _— fgﬁﬁﬁfﬁ;rmion
the accuracy of each type is separated into : Normal //// o
High, Precision.Senior Precision,Top Precision. 0 — Top Precision
1000 2000 3000 4000
Sk
Rail Length
(& 2) Table 2
JYU FHESREESHHMEER
Size Accuracy Inspection of JYULinear Guide (Table 1) B mm

B TEFITEE (um)

Rail Length Running Paralleism Value

PIRELS KEE S
Machine Type Machine Type

315 399 " 8 4 2 1.5
400 499 13 € 5 2 1.5
500 629 16 " 6 25 1.5
630 799 18 12 7 3 2
800 1000 20 14 8 4 2
1001 1249 22 16 10 5 25
1250 1599 25 18 M 6 3
1600 1999 28 20 13 7 3.5
2000 2499 30 22 15 8 4
2500 2999 32 24 16 9 4.5
3000 3499 33 25 17 " 5
3500 4000 34 28 18 12 6




H I BNLRIBE JYU

ZIERNREIERE

Installation Accuracy of Linear Guide

BURREBITRE
e The allowable error of linear guide installation

YU SR =RERAFTENBECOHEYE, BEZREMENTIIRE, RESUNAESERTE,
MR E TRANBITIREENR, HERBINMNELZLZE. X2 JYU SMRFIF=RARNER TS

The block of JYU jseries has the ability to automatically adjust the center, even if the installation face

has a little error, it can still have the smoothly linear motion according different pre-load (such as to meet the
following allowable error range). This is the special advantages of JYU series linear guide products.

1o

P S
o | S M
W il :
“HAERTFITEIRESTE BB{: um M ETKFEFSEIRESFE BAf: pm

Allowable error of parallelism of right and left Allowable error of horizontal height of up and down

MEFR PIRE BE =gl MEFR PIRE RIS =i
Pre—load |Moderate Preloading| Light preload Normal Pre—load |Moderate Preloading| Light preload \[elgnF]

15 - 18 25 15 - 85 130
20 18 20 25 20 50 85 130
25 20 22 30 25 70 85 130
30 27 30 40 30 90 10 170
35 30 35 50 35 120 150 210
45 35 40 60 45 140 170 250
55 45 50 70 55 170 210 300
65 55 60 80 65 200 250 350
85 70 75 90 85 240 290 400

S HhiEEEE 500mm R AFES L RIELE

Note: when the distance of two rails is 500mm, the error allowable value is proportional to L

10

SHEIEEREENSGAED

SHhEl#EE EEESR

Structure of Connective Datum of Linear Guide

o SMEIEEREEENSRTR

e Structure of Connective Datum of Linear Guide

1
BEERBITERE AEREE FAENHEE
Fix by tightening screw Fix by clamp Fix by locating pin

FREBESTFEMRER (B—) BEERREE
Fix by tightening screw and locating pin (Picture 1) Fix by Wedge

1. ZEE—FEZEFRBRSHN, UAZNAEAHAEHFREBEERS, BRSUWNEBNEENLE, BIR
MEtMRE ENE, WE—FR

When install two rails on one surface, both of the rails and blocks should have the locating surface if the load type is impact load and
requirement of the precision is high, as that shows in picture 1

2

Gasket

(HZ)
(Picture 2)

2.B=, AR AREANRZRGR

Picture 3 and picture 4 is the normal installation method

|
T
|
|

(B=) (B )
( Picture 3) (Picture 4)

1



ZEREANSREEREIAEASINEEARE JYU

ZREANEMESERA=AEASNEEARR

Height and Chamfering of Installation Platform

RBRMSGPLEERINIESH, IEBRMSPREE

// )?:ﬂ ‘EL \‘4 i% =Y,
%— l‘HW e MiREFY, HR-10 PR RENIHEHE.

o o f First, When install the block and rail to lathr or work table, it should
SHE}&%&EE%&?{M undercut a groove to avoid the block and rail interfere with the
\ : N reference surface(table-O).

BN ESH R R EN TR EENE

Second, know clearly about the reference-side when

//JJTHZ

installation.
—— B () | BEESH) | EEES (H2)
Reference—side (the polished surface) Model Chamfer(r) platform height(H1) | platform height(H2)
N SNS15  <0.3 35 4 45
Mark o eforence SNS20 <05 4 4.5 5
speyy Coercesive SNS25 < 0.5 5 6 6.5
Refer‘encera\'\ ‘ E/EW@(JE?%@) SNS3O s 0-5 6 6 7
Reference-side (the polished surface) SN835 < 0.5 7 6 10
SR SNS45 < 0.7 8 8 1
'] Merkofreference SNS55 < 0.7 1 8 13
FHLSHA Reterence-sce SNS65 <1.0 12 10 14
e SNS&8 <10 132 12 16

12

ZIEBNRINRZRFE JYU

ZERNBINREKIFRE

Installation and Adjustment of Linear Guide

TRS5EH
Installation and Use
BNORERE, B#RBEUUEHSNENELEE. TAFKBRIFESHEBITEXERX. &
RRKEHE, FEFRTBR, TORLAFAITBESISH. GISUE—MEERHEIA, ESXFRRTS Pl
—5. REN, TRESNS5ISHMNmANEE, EBRMNSHERESISHI L, SSRRFE, BEBRM
SISHERSH L, FEREERMQ) -

Please Handling the products gently to avoid to influence of the precision of the linear guide. The block is
not allowed to detach the rail or or push back to the rail when it is over stroke. If the block need to dismantle
from the rail because of the difficulty assembly, you can order the fake rail from us.(fake rail is a Auxiliary tools
which has a smaller size than the guide rail. When dismantle the block, firstly joint the end of fake rail and
guide rail, then push the block from the guide rail to fake rail. When the guide rail is assembly, push the block
from the fake rail back to the guide rail, pay attention of the reference direction when do these steps)

2, ZRIEBEM
| nstall Caution

HhEHEHBESHESESESNHE (&
RSH LA HD MIFE, AREEEANBANE) o —— o e e

Z]
(LA ). Y e ol
When install the products distinguish the

reference guide rail and non-reference guide rail
clearly(the reference guide rail has the reference
mark and the block has a reference-side polished
surface.

EAESHE FEASHE

Reference Guide Rail Non-reference Guide Rail

13



ZERINEINZRIAE JYU

ZIERIBINRKIARE

Installation and Adjustment of Linear Guide

3. BHEINEERRRIR
Installation Step of Guideway

AL RERRE B. REBHIMEENE S RESMNEENEAR
Check the mounting surface Set the reference-side of guideway opposite to the

referenceside of installing step.

C. KERRNNE, FINRSIE I
Check the position of the bolt hole, to determine the

D. MZEEEEZE], B EtmELEAMNEEZEE
Preloading to fix the bolt, make the reference-side of

correct position guideway closely connect to the side of installing step
E. RRITEREER Fo ORITE B R EH2ET

Finally screw down the bolt Tightened the fastening screws of block in turn

1 9 15 7
S &
—® | ‘ ®—\
& @ & @
10 2 3 16
________ 6 . A4
e oL o T
© ! : © \\
@ o R @ \
5 13 11 3

14

LI RINEINRRIARE

ZHERNRINRER AR

Installation and Adjustment of Linear Guide

4. BEEBNRINTRERE (B TRARMAE)

Installation methods of reference linear rail(two ways for choose as following)
A FIAUBREBHNEENESLZEEMHNESE

MERE, REEZLABRERRITE ( BICR At BHRLSL

L), B —mAmR, —KEEMEE.
To use a U-type grip holder to clamp the reference

surface of rail and reference side surface of installation

step, then use the fixed bolt to tighten the rail(tapping hole

is suggested), it should fix in turn from one end to the other
end.

B. E=KAME, HABN—wEERE, &E -9 FxR73
ERRTEERPNEBENE, NELRANEE, BB
Hp—uh FHRIRBIESHEREELE , HAURSHHEE.

When there is not installation step, first fixed one end
of the rail, then according to the following picture, lean the
gauge on the reference surface of the rail, adjust the linear
accurancy from the guage then fix the rail in turn.

5. EEEBNANRRAE

Linstallation Methods of Non-reference Linear Guide
MEMR, HRSKREEEREBNRINBRE, M

ST — WEERTE —EICEIEEE BT EIE E 5T
As showed in the picture. Fix the Iron absorption meter

onto the block. Read the parallelism and then fixed the
non-reference rail in turn.

15



ZERINEINZRIAE JYU

ZIERIBINRKIARE

Installation and Adjustment of Linear Guide

6. EKENEINXS

Distinction of the Lengthened Linear Guide Rail

HEAEKSHIN, RMNXAB—EBNEIRE—X

XABFE, EEMROSREFEREINT, Wy —— o8 Oen0  Swwd
F—BH BT EE (NE) o165 50 080 108380 ||

When rail that need to joint to be lengthened, we will write
the same capital on one set rail, and the continuous Arabic
numerals to indicate the joint sequence, the joint end mark the
same arabic number (as showed in picture)

6. EZKBNEINX D

Distinction of the Lengthened Linear Guide Rail

ML S
Docking mark
B 9 & o] |
Q (M)A © o o o ]j
B e o e @
iﬁ?§$§%1 éositﬁ)n WEEAE
Butt joint1 is staggered Side datu
i B
Side datum
r2 T2 _$ $_ _$ $ 1
o) @ o OB[B @ ) :t -
e - | & &) - _69 — i | L
REREL2
Butt joint2

- SPRREAANZEEERMNNEEER.
Z\ﬁﬁ%ﬁ& AR SPHEXRESL NI T R 3%
3. FMZENMERER L RN NZEMNESD, EEBERIMAEREEMS. RAZRTEEDE 1. B2 HfR)

1.rail mounting base should have a base and side datum.

2.the docking part in accordance with the docking mark stitching docking connector should be staggered to install.
3.rail installation side of the base surface should be installed when the pressure to ensure that the side surface and ensure
that the surface coincide. (Specific installation diagram shown in Figure 1, Figure 2)

MEEAE
Side datum

MEEAE
Side datum

E- )
Boftom datum

The compreSS|on element
is fixed and removable &1

2
figure 1 figure 2

16

ZIEBNRINRZRFE JYU

ZERNBINREKIFRE

Installation and Adjustment of Linear Guide

8. RERI2H, BIRBIEARFHRREFHEERTLEE

When tightening the bolt, should use a constant torque wrench and install as the recommend torque value as
the following table:

screw model no

HEME 2.6-4.0 51-8.5 8.7-14 21.6-30.5  42.2-67.5  73.5-118 178-295

torque value

9. LiEBMEIRIRAF

Protection of Rolling Linear Guide

HT& BB N FSEEREER, EMIR, 56
HMTBEFER, ﬁTﬁf‘Tl‘JﬁHPE’] BT ESK, FRIRITEL
WTEMEHGTER, AITEIETURS.

Because of the scope of application of linear guide
is expanded,various conditions, applications are required
to use, in order to adapt to different user' s requirements
of seal protection, special designed as following various
sealing mode is for select, please distinguishing when make
the order.

ALERERES, BZEAY, R BB,
wiE F‘%)?E”i)]DI?E"‘ ‘MER” KB (WHE)

If the work environment is very bad, and the space
allow, in addition to make use of to play tricks of seal
completely, also adapt to consideration increment the dust
palliative"skin tiger" device(is like diagram)

17



LI RNEINRRIAE

10, ZiEBHEIRER

The Lubrication of Rolling Linear Guide

ZMERHMEIRABM EZEBMNE R ER
FERAR I I, BIRERNIRER, LS
HMBIMIZEITIRE. ZIEB% BIEL ZRIIE
KT T REZ SR, URIERIK i3
TERPHRFEE, Bh7 8% REBRE
ERHE BN E, BINTERRERSIEBITITE
50km Bt & EHAR . M MBI BEINIETT
HEREER (V= 35m/min), #E#E B N32
AR SERERTRE (WA ). RER (V<
35m/min) #e F=fE FEEDB AL I8 .

The main purpose of linear guide
lubrication is to reduce friction and wear in
order to prevent overheating from destruction
of its internal structure which will effect the
motor function of linear guide. Rolling linear
guide have been filled with high lubricating
grease prior to shippment, to ensure good
lubrication during operation, but in order to
avoid the loss of lubrication caused by the
lack of lubrication , recommend a regular
supplement when the slider stroke is 50km .
When the rounning speed of linear guide is for
high speed (V = 35m/min), recommend to
use of N32 lubrication or connect by pipe to
forced lubrication (show as in picture). For low
speed (V < 35m/min) .recommend to use the
lithium lubricating grease

18

(REXAZE, FEELMDENEZER ARBRR
SRR REB IR, RE Z B MAEERE R
)

When used in Low speed occasion, it is strictly
prohibited to cleaned the lubrication of the internallinear
block by the gasoling before installation to avoid the falure
of lubrication that add prior to shippment.

LI RINEINRRIARE

A H RN S

Linear Slide Dustproof Accessories

EEML, SBHINER, NREBRELGEZTERYHEN, VWFESEERABREER, 4

BEAES, HFEgmaREXEINIGE, EICATCREIERE, BERPRsA.
DRI F=mREHNTFHEERL. KB KBEEARNNE, mREETSERLERNBLRY, &

PEBAREUEECIMERFERNBH. B3R, EXHARERKE, BEFMBREBERSEERMNEZHTKS.

In the presence of dust and iron, if there is foreign matter in the linear motion system of the slider, it may
cause abnormal wear inside the slider, shorten the service life and affect the smoothness of the linear motion
of the slider. Measures to prevent the entry of foreign matter.

Dust-proof products are for the existence of dust, wood chips, iron and other impurities in the bad
environment, the product configuration of a high degree of dust-proof dust-proof accessories, if customers

in the above environment similar to the use of slides, When the dust is configured, add a seal code after the
product slider type number.

BHAS BHAN Bh B N RHE
Seal code Sealing method Dustproof accessories Application
U EAES I BIR BRI ET LR
End seal Scraper board Precision detection equipment and
other dust-free environment
UU I + EDEES BIRR + FEaifh ENBHGE
End seal + Bottom seal Scraper board + Conventional sealing occasions

Bottom dust film

HBER + EEEIR

Scraper board +
Metal scraper

UX InZEH + EREEIR

End seal + Metal scraper

BHE. KeFHe

There are iron, sparks and other occasions

InEH + BRAR + EEERE | BIBR + EEEIMR + KL

B, #wB. Xk, #RFHe
UUX End seal + Metal scraper + Scraper board +

There is dust, iron, sparks. Impurities and

Bottom seal Metal scraper+Bottom dust film other occasions

A HEh U BHERXAAERAZHTL, TR RE.
Note: Where U sealed form for the conventional seal form, when the order can not be marked.

19



[RERIRNFL B L 1L BNl JYU [RERIRNFL B L1 BNl JYU

[REZLFL SNS B& 48 E] G EMIBSE
SNS Series LinearGuidewith Bottom InstallationThread Hole Specification of G Figure
. s 3 G ERHEFEE
‘.tb(_ Recommend Range of G
CEHJS- G EI/N, MEMSHHBEH LM ; 3
’7_84 T T
I GEIX, WEmSHmBLMBEENBEE. R\ 3 )
@’fj[v’ _____ ¥ BREEFAER, MAPEENTRY: : /
—————— ol = |
ﬂ Y i -::: = Too small for G value will affect to machine the flat wiper hole ‘ //)
‘ . of the rail end ; .
Too big for G value will affect the stability and accuracy of the s ‘
NI = — railend !
SNS BA&MEMBEIREE TR REE, ENS BB SORE According to the actual usage, recommend the following ‘
HEE NI T ZEAL. %'l %MFE LR Effctive depth of thread e dimensions to the user.
AEHE, URFERESHALMRERN, X HEMEBENE _
Eﬂﬂiﬁﬁﬁo o B/\E BAME W
\5'5 T:%i?*@KE ’ T%iﬁftgg*éiﬁﬁ B%ﬂT\,?iQXFE,“B _ Min size Max size Recommend size
giag iR ont) e T
2. AR NIEIZE F RSIES AR 28 Mk
fhh0 F DI o osnsw0 o sws0 : 30 20
Ponruthrioiuniiosll e . 20
S T B
11 40 20
SNS series linear guide includ the follow type linear rail
which is processed the threaded installation holes at the _ _ 1 40 20
bottom of the rail. It is more suitable for that need to installl _ _ 14 50 o5
the rolling linear guide from the bottom or improve the
dustproof performance. _ 16 60 30
When select the length of the bolt, the end of the
bolt and the bottom of the thread (the effective depth _ 16 75 35
of thread) need to have a gap of 2 to 5 mm (refer to the _
above picture) 21 90 45

Standard pitch of thread F size please refer to the
table of page 23 — Pitch F.

20 21



RIRBIARIIMBSE JYU RIRBIARIIMBSE JYU

FNSA MBI ARTIIMESE (BHR) SR~ BHRRT
Specification of FNSA Series  (High Assembly) i) Rail Dimension Block Dimension HE LA
Model = =0 . Grease Nipple
FNSA-C # FNSA-H # sEM BEEW KEL B C S L T T K N E Specification
" Height M WightW  LengthL
f'\ FNSAI5C 24 47 618 38 30 M5 398 85 85 20 43 55 G-M4
- - FNSA20C 30 63 774 53 40 M6 508 10 10 26 5 12 G-M6
=1 ||— FNSA20H 30 63 934 53 40 M6 668 10 10 26 5 12 G-M6
[ - - J FNSA25C 36 70 83.5 57 45 M8 595 16 12 305 6 12 G-M6
. " FNSA25H 36 70 1026 57 45 M8 786 16 12 305 6 12 G-M6
‘/-\ ‘/-\ FNSA30C 42 90 1005 72 52 M1I0 705 18 12 35 7 12 G-M6
5 5 t Jeoc FNSA30H 42 90 123 72 52 M0 93 18 12 35 7 12 G-M6
B ] [ To 3 FNSA35C 48 100 1139 82 62 MI0 805 20 14 395 8 12 G-M6
Z Z con:c!’ FNSA35H 48 100 1392 82 62 MI0 1058 20 14 395 8 12 G-M6
o of T FNSA45C 60 120 1385 100 80 MI2 977 22 15 51 10 16 G-PT1/8
FNSA45H 60 120 1695 100 80 M12 1287 22 15 51 10 16 G-PT1/8
FNSA55C 70 140 63 116 95 M4 M8 29 15 57 1 16 G-PT1/8
FNSA-C 50 FNSAH M FNSA55H 70 140 201 116 95 M14 1561 29 15 57 11 16 G-PT1/8
L FNSA65C 90 170 186 142 110 M6 147 37 23 76 19 16 G-PT1/8
i : FNSA65H 90 170 246 142 10 MI16 2065 37 23 76 19 16 G-PT1/8
- B FNSAS5C 110 215 247 185 140 M20 1786 55 30 94 23 16 G-PT1/8
BERHE ) T N FNSAS5H 110 215 303 185 140 M20 236 55 30 94 23 16 G-PT1/8
=
f? e SHRT BRI G 8
T BE Rail Dimension Basic Load Rating Weight
— T w HEMLTED e cn comn BRI BRI
FNSA-C #!
FNSA15C 15 16 15 60 45x75x53 833 135 0.19 15
FNSA20C 20 21.5 18 60 6x95x85 138 238 0.42 2.3
FNSA20H 20 21.5 18 60 6x95x85 213 318 0.53 2.3
FNSA25C 23 23.5 22 60 7x11 x9 19.9 344 0.64 3.3
FNSA25H 23 235 22 60 7x11 x9 27.2 459 0.83 3.3
FNSA30C 28 31 26 80 9x14x12 28 46.8 1.1 4.8
: FNSA30H 28 31 26 80 9x14x12 37.3 625 1.46 4.8
- FNSA35C 34 33 29 80 9x14x12 373 611 1.62 6.6
FNSA35H 34 33 29 80 9x14x12 502 815 2.08 6.6
EBRAEZ N LT TR LR LA U AR KR8 iﬁg;ﬁl;;ﬁiﬁig’g BEER, IOKTERNS FNSA45C 45 375 38 105 14x20x17 60 95.6 288 11
y R AQ [
The flange part is produced with the threaded installation TR FNSA45H 45 375 38 105 14x20x17 80.4 127 3.3 L
hole which can use the long screw bolt Same cross section to FNSA—C, lengthened the FNSA55C 53 435 a4 120 16x23x20 88.5 137 4.5 15.1
block’ ¢ slength, enhance the rated load capacity FNSA55H 53 43.5 44 120 16x23x20 119 183 5.7 15.1
FNSAB5C 63 53.5 53 150 18x26x22 141 215 8.5 225
FNSAG5H 63 53.5 53 150 18x26x22 192 286 10.7 225
FNSA85C 85 65 65 180 24x35x28 210 310 17 35.2
FNSAS5H 85 65 65 180 24x35x28 282 412 23 35.2

22 23



RIRBIARIIMBSE

SNHA BN RIIFESE (BAR)
Specification of SNHA Series (High Assembly)

SNHA-C # SNHA-H &

¥
4_S B
1
A —
S &
Y
W2 f1
SNHA-C #!

SNHA-C U4/ T BRI B ML S BOE M T SR 45H
gt

SNHA-C Type Block reduce the width of the block which
is suitable for the compact structure

24

[_E_
= — W‘J M‘ —

SNHA-C 2 SNHA-H #!

Ma

r
=
tl

o (¢] !

; : (o
o = vy

BB 5 SNHA-C R MEBEIR, KT ARIEK,
= 7t T BE AT RE 7

Same cross section toSNHA-C , lengthened the blockS5 s
length, enhance the rated load capacity

RIRBIARIIMBSE

JYU

SHRT BRR T .
= Rail Dimension Block Dimension i A
Model = =0 . Grease Nipple
BEM EEW  KEL C S L T K N E Specification
Height M WightW  LengthL
SNHA15C 28 34 61.8 26 26 M4x0.7x5 398 6 24 43 55 G-M4
SNHA20C 30 44 77.4 32 36 M5x0.8x6 50.8 26 12 G-M6
SNHA20H 30 44 93.4 32 50 Mb5x0.8x6 66.8 26 12 G-M6
SNHA25C 40 48 83.5 35 35 M6x8 595 10 345 10 12 G-M6
SNHA25H 40 48 102.6 35 50 M6x8 786 10 345 10 12 G-M6
SNHA30C 45 60 100.5 40 40 M8x10 705 12 38 10 12 G-M6
SNHA30H 45 60 123 40 60 M8x10 93 12 38 10 12 G-M6
SNHA35C 55 70 113.9 50 50 M8x12 805 12 475 15 12 G-M6
SNHAS35H 55 70 139.2 50 72 M8x12 1058 12 475 15 12 G-M6
SNHA45C 70 86 138.5 60 60 M10x17 977 15 61 20 16 G-PT1/8
SNHA45H 70 86 169.5 60 80 M10x17  128.7 15 61 20 16 G-PT1/8
SNHA55C 80 100 163 75 75 M12x18 18 18 67 21 16 G-PT1/8
SNHA55H 80 100 201 75 95 M12x18  156.1 18 67 21 16 G-PT1/8
SNHAG5C 90 126 186 76 70 M16x20 147 23 76 19 16 G-PT1/8
SNHAG5H 90 126 246 76 120 M16x20 206.5 23 76 19 16 G-PT1/8
SNHAS85C 10 156 247 100 80 M18x25 1786 30 94 23 16 G-PT1/8
SNHA85H 10 156 303 100 140 M18x25 236 30 94 23 16 G-PT1/8
FHRT BAREE B BB
BE Rail Dimension Basic Load Rating Weight
Model me e =iy e B (k kg/m
AXJ\/E’[I’YCW e I:elihml :tl:ti IIZ dixd2xh SUSY - GO l;jfkikggt;; Ejl;ijl:'l'(ligg/m))
SNHA15C 15 9.5 15 60 45x75x53 833 13.5 0.2 1.5
SNHA20C 20 12 18 60 6x95x85 13.8 23.8 0.34 2.3
SNHA20H 20 12 18 60 6x9.5x85 21.3 31.8 0.43 2.3
SNHA25C 23 12.5 22 60 7x11 x9 19.9 34.4 0.56 3.3
SNHA25H 23 12.5 22 60 7x11x9 27.2 45.9 0.73 3.3
SNHA30C 28 16 26 80 9x14x12 28 46.8 0.91 4.8
SNHAS30H 28 16 26 80 9x14x12 37.3 62.5 1.18 4.8
SNHA35C 34 18 29 80 9x14x12 37.3 61.1 1.54 6.6
SNHA35H 34 18 29 80 9x14x12 50.2 81.5 1.99 6.6
SNHA45C 45 20.5 38 105 14x20x17 60 95.6 2.92 1
SNHA45H 45 20.5 38 105 14x20x17 80.4 127 3.1 il
SNHA55C 53 235 44 120 16x23x20 88.5 137 4.3 15.1
SNHA55H 53 23.5 44 120 16x23x20 19 183 5.4 15.1
SNHA65C 63 31.5 53 150 18x26x22 141 215 7.3 225
SNHAGSH 63 31.5 53 150 18x26x22 192 286 9.3 225
SNHA85C 85 35.5 65 180 24x35x28 210 310 13 35.2
SNHA85H 85 35.5 65 180 24x35x28 282 412 16 35.2

25



RIRBIARIIMBSE

SNSA &R ARITIMBSH (IES)

Specification of SNSA Series

SNSA-C 2 SNSA-H 7!

26

(High Standard)

Eu il

W2

SNSA-C ! SNSA-H £

—
= =
tl

(o] (@) |

; ‘ (o
o = iy

RIRBIARIIMBSE

EHER~T (mm) BRR T
Fi = Rail Dimension Block Dimension
Model
H Hi N W B B1 C L L G Ki K2 T H2 Ha MXI
SNSA15C 24 43 95 34 26 4 26 394 614 53 10 4.85 6 395 3.7 M4x4
SNSA25C 36 556 125 48 35 65 35 58 84 12 15.7 6 8 6 5 M6x6
SNSA25H 36 55 125 48 35 65 50 78.6 1046 12 18.5 6 8 6 5 M6x6
SNSA30C 42 60 160 60 40 10 40 70 974 12 2025 6 85 6.5 10.8 M8x10
SNSA30H 42 60 160 60 40 10 60 93.0 1204 12 2175 6 85 6.5 10.8 M8x10
SNSA35C 48 75 180 70 50 10 50 80 M24 12 20.6 7 10.2 9 12.6 M8x12
SNSA35H 48 75 180 70 50 10 72 105.8 138.2 12 225 7 10.2 9 12.6 M8x12
SNSA45C 60 95 205 86 60 13 60 97.0 1394 129 23 10 16 85 20.5 M10x17
SNSA45H 60 95 205 86 60 13 80 1288 171.2 129 289 10 16 85 20.5 M10x17
SNSA55C 70 13.0 235 100 75 125 75 117.7 166.7 129 2735 M 175 12 19 M12x18
SNSA55H 70 13.0 235 100 75 125 95 155.8 2048 129 364 1 175 12 19 M12x18
SHRF (mm) SHEEEZE®RRT ERGESRT  BSBEEE BEE
BE Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Static Instaneous Torque Weight
Moad WR HR D h d P E (mm) C (KN) CO (KN) K:\; K';A_F:n K';A_Ym if:jiitg; E’;iji}(f;g/:)])
SNSA15C 15 15 7.5 5.3 4.5 60 20 M4x16 995 1322 0.10 0.09 0.07 0.14 1.5
SNSA25C 23 22 11 9 7 60 20 M6x20 2366 29.75 0.31 033 025 042 3.3
SNSA25H 23 22 11 9 7 60 20 M6x20 27.41 36.61 038 052 042 0.57 3.3
SNSA30C 28 26 14 12 9 80 20 M8x25 3114 37.37 049 050 040 0.78 4.8
SNSA30H 28 26 14 12 9 80 20 M8x25 39.66 5293 0.70 0.88 0.71 1.03 4.8
SNSA35C 34 29 14 12 9 80 20 M8x25 4141 53.69 0.90 0.78 0.62 114 6.6
SNSA35H 34 29 14 12 9 80 20 M8x25 52.73 76.06 128 136 102 1.52 6.6
SNSA45C 45 38 20 17 14 105225 M12x35 66.63 76.28 185 154 112 2.08 11
SNSA45H 45 38 20 17 14 105 225 M12x35 85.01 108.06 2.63 259 1.68 275 1
SNSA55C 53 44 23 20 16 120 30 M14x45 97.27 126.62 314 216 2.16 3.25 15.1
SNSA55H 53 44 23 20 16 120 30 M14x45 120 1614 429 378 3.78 4.27 15.1
27



REBIARIIRBES

FNSR Z 48 RTIFIESE (RHER)
Specification of FNSR Series (Roller Type)

FNSR-C & FNSR-H #

E @

3]

1o]

©

©
Lier |

e e
FNSR-C & FNSR-H %
L
G L K,
B = C )
G, =]
; . .
[ @ ° | HEpA
== —:‘4 {
| - ) 0 i
1 > :
I == b
E| P
FNSR-C 2 FNSR-H %!

(
oo ,
VA
) AT N Z S

BR 7 AT LAAGB IR EE BT RGO, B & T8
ERFIEAHRESTEA, MBRNEEE LT
e

5 FNSR-C 2 A B HFEMTE R, EBMTBRIKE,
BEINARIRITE, RAFEEN AR

Same cross section to FNSR-C, lengthened the block' s
length, increase the quantity of roller, enhance the rated
load capacity

Can install from the upside of block, can also install from
the bottom of the block when bolt can' t run through the
operating platform

28

REBIARIIMBESE

JYU

AHER (mm) BHRRST .
Fi = Rail Dimension Block Dimension i B
Model Grease Nipple
H Hi N W B B1 C Ci L1 L Ki G M T T T2 Hs Specification
FNSR20C 30 5 215 63 53 5 40 35 575 86 138 53 M6 8 10 43 43 G-M6
FNSR20H 30 5 215 63 53 5 40 35 775 106 128 53 M6 8 10 43 43 G-M6
FNSR25C 36 55 235 70 57 65 45 40 645 979 1575 12 M8 95 10 6.2 6 G-M6
FNSR25H 36 55 235 70 57 65 45 40 81 144 24 12 M8 95 10 6.2 6 G-M6
FNSR30C 42 6 31 90 72 9 52 44 71 1098 175 12 M10 95 10 6.5 7.3 G-M6
FNSR30H 42 6 31 90 72 9 52 44 93 1318 285 12 MI10 95 10 6.5 7.3 G-M6
FNSR35C 48 65 33 100 8 9 62 52 79 124 165 12 M10 12 13 9 126 G-M6
FNSR35H 48 65 33 100 82 9 62 52 106.5 151.530.25 12 M10 12 13 9 126 G-M6
FNSR45C 60 8 375 120 100 10 80 60 106 153.2 21 129 M12 14 15 10 14 G-PT1/8
FNSR45H 60 8 375 120 100 10 80 60 139.8 187 379 129 M12 14 15 10 14 G-PT1/8
FNSR55C 70 10 435 140 16 12 95 70 1255 183.7 27.75129 M14 16 17 12 175 G-PT1/8
FNSR55H 70 10 435 140 16 12 95 70 173.8 232 519 129 M14 16 17 12 175 G-PT1/8
FNSR65C 90 12 535 170 142 14 110 82 160 232 408 129 M16 22 23 15 15 G-PT1/8
FNSR65H 90 12 535 170 142 14 110 82 223 295 723 129 M16 22 23 15 15 G-PT1/8
SR (mm) SHERBERST BERFEAR BT 1%E E
BE Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Allowable Static Torque Weight
Moad WR HR D h d P E (mm) C (KN) CO (KN) . KZ‘; K'Nv‘j(m ;Ejfk:tz; E';f"l“((:g/g)
FNSR20C 20 21 9585 6 30 20 M5X20 21.3 46.7 0.647 0.46 0.46 0.44 2.76
FNSR20H 20 21 9585 6 30 20 M5X20 26.9 63 0.872 0.837 0.837 0.62 2.76
FNSR25C 23236 11 9 7 30 20 M6X20 27.7 571 0.758 0.605 0.605 0.67 3.08
FNSR25H 23236 11 9 7 30 20 M6X20 33.9 73.4 0975 0.991 0.991 0.86 3.08
FNSR30C 28 28 14 12 9 40 20 M8X25 39.1 821 1445 1.06 106 1.06 4.41
FNSR30H 28 28 14 12 9 40 20 M8X25 48.1 105 1.846 1712 1.712 1.42 4.41
FNSR35C 34 30.2 14 12 9 40 20 M8X25 57.9 1052 217 144 144 1.61 6.06
FNSR35H 34 30.2 14 12 9 40 20 M8X25 731 142 293 2,60 260 2.21 6.06
FNSR45C 45 38 20 17 14 52,5225 M12X35 926 1788 4,52 3.05 3.05 3.22 9.97
FNSR45H 45 38 20 17 14 52.522.5 M12X35 116 230.9 6.33 547 547 4.41 9.97
FNSR55C 53 44 23 20 16 60 30 M14X45 130.5 252 8.01 5.40 5.40 5.18 13.98
FNSR55H 53 44 23 20 16 60 30 M14X45 167.8 348 1115 10.25 10.25 7.34 13.98
FNSR65C 63 53 26 22 18 75 35 M16X50 213 411.6 16.20 1.59 11.59 11.04 20.22
FNSR65H 63 53 26 22 18 75 35 M16X50 275.3 5727 2255 2217 2217 15.75 20.22
29



REBIARIIRBES REBIRTIMIESE JYU

SNHR 4B IESE (RHER) AR (mm) BHRT S
Specification of SNHR Series  (Roller Type) R Rail Dimension Block Dimension R A4
Model Grease Nipple
SNHR-C # SNHR-H #Y H H N W B Bi C L L Ki K G  MXL T H2 Hs  Specification
Me
h SNHR20C 34 5 12 44 32 6 36 575 86 158 6 53 MbHX8 8 8.3 8.3 G-M6
i+ v ¥ +
= %; SNHR20H 34 5 12 44 32 6 50 775 106 188 6 53 M5X8 8 8.3 83 G-M6
SNHR25C 40 55 125 48 35 6.5 35 645 979 20.757.25 12 M6X8 9.5 10.2 10 G-M6
My Mr SNHR25H 40 55 125 48 35 6.5 50 8 144 215 725 12 M6X8 9.5 10.2 10 G-M6
, A l Icoc SNHR30C 45 6 16 60 40 10 40 71 1098 235 8 12 M8X10 9.5 9.5 10.3 G-M6
] i - SNHR3OH 45 6 16 60 40 10 60 93 131.8 245 8 12 M8SX10 95 9.5 103  G-M6
= Y el
e o ]| SNHR35C 55 6.5 18 70 50 10 50 79 124 225 10 12 M8X12 12 16 19.6 G-M6
SNHR35H 55 6.5 18 70 50 10 72 106.5 1515 255 10 12 M8X12 12 16 19.6 G-M6
SNHR45C 70 8 205 86 60 13 60 106 153.2 31 10 12.9 M10X17 16 20 24 G-PT1/8
SNHR-C #!  SNHR-H # SNHR45H 70 8 205 86 60 13 80 139.8 187 379 10 129 MI0X17 16 20 24  G-PT1/8
[ L SNHR55C 80 10 235 100 75 125 75 125.5 183.7 37.75 12.5 12.9 M12X18 17.5 22 27.5 G-PT1/8
B G L K SNHR55H 80 10 235 100 75 125 95 173.8 232 51.9 125 12.9 M12X18 17.5 22 275 G-PT1/8
B ~ C 2
: SNHR65C 90 12 315 126 76 25 70 160 232 60.8 15.8 12.9 M16X20 25 15 15 G-PT1/8
e o I [ S N
U ‘ am ‘ = an 1 ‘ ‘ Tl = SNHR65H 90 12 315 126 76 25 120 223 295 67.3 15.8 129 M16X20 25 15 15 G-PT1/8
@,—ﬁ@) . i @ @ I . .
| =  ——| v q— ‘
‘ = : ‘ ‘ SHRT (mm) SHETERRT BEAWEHHE  FUBRNE 8
ﬂd = Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Allowable Static Torque Weight
N WR == Model MP MY iR (k ka/m
B P WR Hk D h d P E (mm) C(KN) CO (KN) AR ko) E‘Fﬁ(g )
-m  KN-m KN-m Block(kg) Rail(kg/m)
SNHR-C 2 SNHR-H £ SNHR20C 20 21 9585 6 30 20 M5X20 213 467 0647 046 046 044 276
SNHR20H 20 21 9585 6 30 20 M5X20 26.9 63 0.872 0.837 0.837 0.62 2.76
SNHR25C 23236 1 9 7 30 20 M6X20 27.7 571 0.758 0.605 0.605 0.67 3.08
SNHR25H 23236 11 9 7 30 20 M6X20 33.9 73.4 0.975 0.991 0.991 0.86 3.08
SNHR30C 28 28 14 12 9 40 20 M8X25 391 821 1445 1.06 1.06 1.06 4.1
SNHR30H 28 28 14 12 9 40 20 M8X25 48.1 105 1.846 1712 1.712 1.42 4.1
SNHR35C 34 30.214 12 9 40 20 M8X25 57.9 105.2 217 144 144 1.61 6.06
SNHR35H 34 30.214 12 9 40 20 M8X25 731 142 2.93 2.6 2.6 2.21 6.06
a/NBIRIVEERL, FIRAMIBIRI EE#ITE 5 SNHR-C 2 A/ HERERETE R, N T BHNKE,
R s s SNHR45C 45 38 20 17 14 525225 M12X35 92.6 178.8 452 3.05 3.05 3.22 9.97
FIBIN T ARRAEE, RABKNMARRE
SNHR45H 45 38 20 17 14 525225 M12X35 16 230.9 6.33 547 547 4.4 9.97
Same cross section to SNHR-C lengthened the block' s
length, increase the quantity of roller, enhance the rated SNHR55C 53 44 23 20 16 60 30 M14X45 130.5 252 8.01 54 54 518 13.98
load capacity SNHR55H 53 44 23 20 16 60 30 M14X45 167.8 348 1M.15 10.25 10.25 7.34 13.98
SNHR65C 63 53 26 22 18 75 35 M16X50 213 411.6 16.2 11.59 11.59 11.04 20.22
SNHR65H 63 53 26 22 18 75 35 M16X50 275.3 572.7 2255 2217 2217 15.75 20.22

30

31



MEBIMARIIMBSE BB ARIIRBES JYU

MWA S BMAIES R (1HME) AR (mm) BHRR B g R~
Specification of MWA Series Linear Guide (With Type) = Rail Dimension Block Dimension Rail Bolt Size
Model < ¢
MWA‘Ca H g_lj. MWA‘W, WH g_lj. H H1 N Wi W2 Ws L1 L2 L3 MXd R_j- X 'l:t}ﬁ
Size x Length
TY
7‘ & @\ - MWA7C 8 15 5 17 12 25 235 8 143  M2x2.5 M2X6
( \ % [ MWA7H 8 15 5 17 12 2.5 31 12 216  M2X2.6 M2X6
) i = ] ) MWA9SC 10 2 5.5 20 15 2.5 30 10 208  M3X3 M3X8
a 10 MWASH 10 2 5.5 20 15 25 405 15 309  M3X3 M3X8
X
P Lo MWA12C 13 3 7.5 27 20 35 34 15 216  M3X35 M3X8
" = MWAI2H 13 3 7.5 27 20 35 44 20 32  M3X35 M3X8
%lﬂ | ! j% MWAISC 16 4 85 32 25 35 42 20 278 M3X4 M3X10
MWAISH 16 4 8.5 32 25 35 57 25 427  M3X4 M3X10
MWA7W 9 1.9 5.5 25 19 312 10 21 M3X3 M3X6
MWA7WH 9 1.9 5.5 25 19 3 M 19 308  M3X3 M3X6
MWA-C, H#
. 1 MWAOW 12 2.9 6 30 21 45 393 12 275  M3X3 M3X8
0 g% 4-Mxd 13 13 MWASWH 12 2.9 6 30 23 35 507 24 385  MB3X3 M3X8
< = ) L2 L2 MWAT2W 14 3 8 40 28 6 44 15 31  M3X35 M4X10
_ Hﬂg y Y T __ T & Y T MWAT2WH 14 3 8 40 28 6 59 28 463 M3X35 M4X10
al [ T [ I MWAISW 16 4 9 60 45 75 55 20 39  M4X45 M4X12
Vo — ; gle MWAISWH 16 4 9 60 45 75 745 35 583 M4X45 M4X12
jom =
MWA-W, WH #! EHM R~ (mm) BEAREE A BFERNIE E=
W el Ll Ll BE Rail Dimension (mm) Basic Load Rating Allowable Static Torque Weight
Wi B M L3 L3
| ) | 1A ‘ L2 L2 Model T T T SHL, /10
== é)/ = = i W He E F Ws Ws dixd2xh  C(KN) CO (KN) (No) (NX) (Ny) ,;i;&k:g; Effj_}((g“o C”)])
==I s 2 4 = L5 d = n . il —--c m m m ock(g ail(g/10cm
X ¥ - | W4 — 4 fal ‘ ‘
= X ' P Bt MWA7C 7 5 75 15 - - 24x42x23 1200 1960 7.2 49 4.1 10 22
MWA7H 7 5 75 15 - - 24x42x23 1510 2750 10 91 7.7 14 22
icR=dint: )z MWASC 9 6 10 20 - - 35x6x35 1610 2860 133 94 7.9 19 35
Model Code
MWASH 9 6 10 20 - - 35x6x3.5 2080 4180 19.4 19.4 16.3 28 35
MWAI2C 12 8 125 25 - - 3.5x6.5x45 2060 4450 27.6 16 13.4 35 65
MWAI2H 12 8 125 25 - - 35x6.5x45 3780 6430 399 318 26.7 52 65
MWAI5C 15 10 20 40 - - 3.5x6.5x45 4390 6730 51.8 30.8 259 64 107
MEBHR R 7,9, 12, 15 G4 %ﬁﬁl MWAISH 15 10 20 40 - - 35x65x45 5750 10100 77.7 66.2 556 95 107
Type Length of the Rail Norma
G3: B MWA7W 14 52 10 30 - -  35x6x3.2 1370 2060 157 7.4 7.4 20 51
High MWA7WH 14 52 10 30 - - 35x6x3.2 1770 3140 23.45 1553 1553 29 51
C: FrfR G2: BZBR
standard Block Procision MWASW 18 7 10 30 - -  35x6x45 2750 4120 40.12 18.96 1896 40 91
H: iiE 00 Eo MWASWH 18 7 10 30 - 35x6x45 3430 5800 54.54 34 34 57 91
Lengthened Block L100: BHKE 20: ZaEpg
. ;Sﬂe”e ¢ Length of the Rail Toro Gap MWAI2W 24 8 20 40 - 35x8x45 3780 6430 784 318 267 76 139
Widen Bloc IA: BFE MWAI2WH 24 8 20 40 - 35x8x45 4870 9400 115 656 55 M 139
WH: &, ks 2: BYEHIERE Light Preloading
e thened Bock Mo Block for Each Rail —— MWAIBW 42 10 20 40 23 95 3.5x8x45 6150 10200 216 63.6 53.3 140 294
Moderate MWAIBWH 42 10 20 40 23 95 35x8x45 7910 14900 316 131 110 204 294
32 33



SR RSG5

SNHE ZEBNATIHAESE (SmAE)

Specification of SNHE Series

SNHE-C 2 SNHE-H #!

4-M*]
B, B
™ ||/ N
FL:EJ o ] =
NI W <
34

(Super Rolling Moment)

SNHE-C & SNHE-H #

My

)

@)

©)

o[ ]

_Tol

<ll

SR RIS S

L
L
C ==
" R
o I I
2 [T i
[ |
Bd |
E

HHERST (mm) BRRST
Fi = Rail Dimension Block Dimension
Model
H H1 N W B B1 < L L G K2 T H2 Ha MXI
SNHE15C 28 4.1 9.5 34 26 4 26 39.6 58.2 6 4.25 6 7.8 7.8 M4x6
SNHE20C 30 4.65 12 44 32 6 36 525 74.9 6 55 8 3.7 3.5 Mb5x6
SNHE20H 30 4.65 12 44 32 6 50 685 909 6 5.5 8 3.7 3.5 Mb5x6
SNHE25C 40 6.1 125 48 35 6.5 35 61 84 13 5 8 10 95 M6x8
SNHE25H 40 6.1 125 48 35 6.5 50 784 1014 13 5 8 10 9.5 M6x8
SNHE30C 45 7 16 60 40 10 40 69 974 13 8.7 9.5 9.7 10 M8x10
SNHE30H 45 7 16 60 40 10 60 915 1199 13 8.7 9.5 9.7 10 M8x10
SNHE35C 55 7.6 18 70 50 10 50 79 14 13 7 10.2 16 14  M8x13
SNHE35H 55 7.6 18 70 50 10 72 1034 1358 13 7 10.2 16 14  M8x13
SNHE45C 70 97 205 86 60 13 60 972 1376 13 8.7 16 185 18.2 M10x17
SNHE45H 70 9.7 205 86 60 13 80 133.6 174 13 8.7 16 185 18.2 M10x17
SHRF (mm) SHEEEZE®RRT ERGESRT  BSBEEE BEE

BE Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Static Instaneous Torque Weight

S e ohar e m oo com M I 98
SNHE15C 15 16.2 7.5 5.9 45 60 20 M4x17 1244 16.52 0.7 0.13 0.3 0.15 1.58
SNHE20C 20 20.55 9.5 85 6 60 20 M5x19 2005 2582 0.34 025 025 0.25 2.48
SNHE20H 20 20.55 9.5 85 6 60 20 M5x19 2420 33.77 044 043 043 0.33 2.48
SNHE25C 23 2425 11 9 7 60 20 M6x22 2958 3719 055 044 044 046 3.38
SNHE25H 23 2425 11 9 7 60 20 M6x22 34.27 45.77 068 065 0.65 0.59 3.38
SNHE30C 28 28.35 14 12 9 80 20 M8x25 3892 46.71 0.87 0.63 0.63 0.71 5.1
SNHE30H 28 28.35 14 12 9 80 20 M8x25 4957 66.16 123 110 1.10 0.94 5.1
SNHE35C 34 3185 14 12 9 80 20 M8x28 5176 6711 158 098 0.98 124 7.14
SNHE35H 34 3185 14 12 9 80 20 M8x28 65.91 95.08 224 181 181 1.62 7.14
SNHE45C 45 39.85 20 17 14 105225 M12x37 83.28 9535 325 210 2.10 2.38 11.51
SNHE45H 45 39.85 20 17 14 10522.5 M12x37 106.26 135.07 4.61 3.99 3.99 3.01 11.51

35



SR RIS S JYU SR RIS S JYU

SNSE & MBI RTIMESE (SHiHE) BAHERSE (mm) BHRRT
Specification of SNSE Series  (Super Rolling Moment) RS Rail Dimension ek Bire e
Model
SNSE-C #I SNSE-H & H Hi N W B B1 C Li L © Ki Kz T H2 Hs  MXI
My
A SNSEI5C 24 41 95 34 26 4 26 396 582 6 108 43 6 38 3.8 M4ax6
e o SNSE25C 36 61 125 48 35 65 35 61 8 13 174 50 8 6 55 M6x8
© 4o op—©
1 R SNSE25H 36 61 125 48 35 65 50 784 1014 13 186 50 8 6 55 M6x8
MR MP
r\ (\ SNSE30C 42 7.0 160 60 40 10 40 69 974 13 1975 87 95 67 7 MS8xl0
el Y Y[ SNSE30H 42 70 160 60 40 10 60 915 1199 13 21 87 95 67 7 M8xI0
TT T
L L

SNSE35C 48 76 180 70 50 10 50 79 M4 13 226 7.0 10.2 9 7 M8x13

SNSE-C & SNSE-H #Y
SNSE35H 48 76 180 70 50 10 72 1034 1358 13 238 7.0 102 9 7 M8xi3

L
5 3 o A-Nx] Li SNSE45C 60 97 205 8 60 13 60 972 1376 13 23 87 16 85 8.2 MIOxI7
1
C
L / A N N SNSE45H 60 97 205 8 60 13 80 1336 174 13 312 87 16 85 82 MIOx17
T T T T m :7
HL L © A ghol | L
— T
fom I )
| | — = =
TIT = LNJ " " TIT SHRY (mm)  SHEZSRRY EATEAHE  SEREME &8
\ i [T i | 1 | BE Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Static Instaneous Torque Weight
gd Model MR MP MY Bk (k k
N W “ WR Hk D h d P E (mm) C(KN) CO (KN) B (ko) S (ka/m)
— P p KN-m KN-m KN-m Block(kg) Raillkg/m)
SNSE15C 15 16.2 7.5 5.9 4.5 60 20 M4x17 12.44 1652 0417 043 013 0.1 1.58
SNSE25C 23 243 11 9 7 60 20 M6x22 2058 3719 0.55 044 0.44 0.37 3.38
SNSE25H 23 243 11 9 7 60 20 M6x22 34.27 4577 0.68 0.65 0.65 0.47 3.38
SNSE30C 28 28.0 14 12 9 80 20 M8x25 38.92 4671 0.87 0.63 0.63 0.61 5.1
SNSE30H 28 28.0 14 12 9 80 20 M8x25 4957 6616 123 110 110 0.82 5.1
SNSE35C 34 319 14 12 9 80 20 M8x28 51.76 6711 158 098 0.98 0.93 7.14
SNSE35H 34 319 14 12 9 80 20 M8x28 65.91 9508 224 181 181 122 7.14
SNSE45C 45 39.9 20 17 14 105 22.5 M12x37 8328 9535 325 210 210 172 11.51
SNSE45H 45 39.9 20 17 14 105 22.5 M12x37 106.26 135.07 4.61 399 399 2.39 11.51

36 37



SR RIS S JYU SR RIS S JYU

FNSE &8 RMESE (SiniAzE) AHERSF (mm) BRRT
Specification of FNSE Series (Super Rolling Moment) iR Rail Dimension Block Dimension
Model
FNSE-C #! FNSE-H #! H Hi N W B B1 C Li L © Kz T Ti Hz Hs  MXI
MY
r\ FNSEISC 24 41 16 47 38 45 30 396 582 6 425 5 65 38 38 M5
2 QL FNSE20C 30 465 215 63 53 5 40 525 749 6 55 65 77 37 35 M6

FNSE20H 30 465 215 63 53 5 40 685 909 6 55 6.5 77 37 35 M6

b %]
@
b_lal -
@

FNSE25C 36 61 235 70 57 65 45 61 84 13 5 7 9.3 6 5.5 M8

7 N FNSE25H 36 61 235 70 57 65 45 784 1014 18 5 7 93 6 55 M8

FNSE30C 42 31 90 72 52 69 974 13 87 105 12 6.7 M10

£

).
%

~1 ©
o
3

~

©

~N

FNSE30H 42 7 31 90 72 9 52 915 199 13 87 105 12 6.7 7 M10

FNSE-C & FNSE-H #! FNSE35C 48 7.6 33 100 82 9 62 79 M4 13 7 101 1341 9 7 M10
l 6N L FNSE35H 48 7.6 33 100 82 9 62 1034 1358 13 7 101 1341 9 7 M10
N L
B, B =g C P FNSE45C 60 97 375 120 100 10 80 972 1376 13 87 135 15 85 8.1 M12
N Cl Ol
S (T TF =1 =T =T
=1 L 5 O], ||77 rﬂ_Dj gho [ 1], HHE: FNSE45H 60 97 375 120 100 10 80 133.6 174 13 87 135 15 85 8.1 M12
- ":ET T |
Tl = | T 9 g TT o N )
] [ SR~ (mm) SHEEZEERT EXRGEAR RN IR BE
B fd ‘ BE Rail Dimension (mm) Tightening Bolt of Rail Basic Load Rating Static Instaneous Torque Weight
W N ) P Model MR MP MY B (k kg/
WR He D h d P E (mm) C (KN) CO (KN) B (ko) F3 (kg/m)

KN-m KN-m KN-m Block(kg) Rail(kg/m)

FNSE15C 15 16.2 7.5 5.9 45 60 20 M4x17 1244 16.52 0.7 013 0.13 0.14 1.58
FNSE20C 20 20559585 6 60 20 M5x19 2005 2582 0.34 025 025 0.36 2.48
FNSE20H 20 20559585 6 60 20 M5x19 2420 33.77 0.44 043 043 047 2.48
FNSE25C 23 2425 11 9 7 60 20 M6x22 2958 3719 055 044 044 053 3.38
FNSE25H 23 2425 11 9 7 60 20 M6x22 34.27 4577 068 065 065 0.68 3.38
FNSE30C 28 28.35 14 12 9 80 20 M8x25 38.92 46.71 0.87 0.63 0.63 0.9 5.1
FNSE30H 28 28.35 14 12 9 80 20 M8x25 4957 66.16 123 110 1.10 119 5.1
FNSE35C 34 3185 14 12 9 80 20 M8x28 5176 6711 158 098 0.98 1.37 7.14
FNSE35H 34 3185 14 12 9 80 20 M8x28 65.91 95.08 224 181 181 1.79 7.14
FNSE45C 45 39.85 20 17 14 105 22.5 M12x37 83.28 9535 325 210 210 2.45 11.51
FNSE45H 45 39.85 20 17 14 105 22.5 M12x37 106.26 135.07 4.61 3.99 3.99 3 11.51

38 39



JWU

www.jyubearing.com

BN st R T A B R A E)

Liaocheng Jingyan Bearing Co., Ltd.

T #hiik

FBiE: 0635-2812056/2857733
FAl: 15610123501

f£EE: 0635-2813498

MEFS: 1039752177@qq.com

it IWARBIRIGETERE T E

EBHES AT

BiE: 021-57893800

£E: 021-57893800

BEFE: 1039752177@qgq.com

Motk ESTHAST AT T FE S B 3255 5 118

HEHEED 1T

FBiE: 0531-82805895

f£E: 0531-82805895

ME45: 1039752177@qgq.com

#oht: SFETEAX T EE 44 ST 15 4 S5 2 855 1602



